Balancing Equa_t_io_l_:_ls: Answers to Practice Problems
.. .. _ 1.. Balanced equations «. (COefﬁciéﬁfé eciﬁal- to one (1)_do not néed to be sh(;Wn in y;Jur énsﬁfersi.
(a) 2Fe {3'(:1ig —'.>"?.,.Feél'3': : |
() 4Fer30,—2 Fe,0;
'.(c) 2 FeBi, + 31,50, —»1 F;e_g-(so;g +6.HBr' o
@ 1 C,H,0; +1 H,0 2‘¢2H4-Q'2 . _'
() 1C,H, +30, — 2'(':.02+ 2H,0
) 1CHig0+60, — 4CO;+5H,0
(2) 1CHg+110,=>7C0, + 3 H,0
(h) 4H,SiCl, +4H,0 — 1 1&183.1404 + §HCI
(i) I0HSICl;+ 15 H,0 — 1 Hy4Si,40,5+30HCI -
() 1C7Hy+3HNO; — 1 G;H (NO,); +3H,0

(k) 1C3HgO, + 2 NaH + 2 HCl — 1 CsH,,0, +2 NaCl



Balancing Equations: Practice Problems

1. Balance each of the following equations.

{(a) Fe+ Cl, — FeCl,

(b} Fe Oy Fe, 04

(c) FeBr, + H,50, — Fe, (SO, ), + HBr
(d) CyH; O3 + H,O — C,H,0,

(e) CH,+ 0, — CO, + H,0

f} ——C;H;,O+ Oy — .COy + ——H,0

(g) CHg+ Oy — — CO + H,O

(h) H,SiCl, + H, 0 — HgSi,0, + HC

(1} — HSiCl; + H,0 — H;S1;05 + HCI
(i) CyHg + ANO; — o CyH (NO,); + H,O
(k) C3HgO, + NaH + —_HCl — CsH,,0, + NaCi




